V00E~VOSEMMIFSE 10

Nid LHOIVYLS 13XSVO ad313AIY 1D

PR5-100A-041

I-—M.UO—-
Il

H RS (Technical Data)

——1400— r*I:I [
' o
s g e
o L 4.10~—]
| 1
e50—] ;u
I5-6H f—12.00—
I |
[ ]
i=]
Y 8
o3
—=—1.50 l
T T 4-3.50-+
L—12.5l1—J %&SU—J

PR5-100-052
——18.0 I_EI —
I 3

T @ J_ ﬁ.so—Eﬁﬁi
—10.00-

2.50~+—

~1.50

I—16.50—I 4'4'0‘:%

BAS#(Technical Data)

I——IIS,OO—-

‘I—LB.GO

PR5-100A-036

—12.00—

1 O O

PCB LAYOUT

=
—
’-—10 Sﬂ—-]

2,60+

i

4210

i

M5-6F p—12.00—~

2.00-—

18.80:

11,50 8
3

L—m.so——T e-aa gs.aa-l

$ARSH(Technical Data)

PCBiR/IRZFin Tk, BSHKHE, HERERS, ™~

PR5-100A-051

~15.00£0.10—~
NP I
s | \, || i
gt b0 B pcB LAYOUT | o
\ o =9
% D // - '\i
L 1 L 3.10
| ]

8
g
3
&
x

PR5-120A-011

1800 o S O

4.60
1 1]

F—14.00—

2104k

mEITHEHERNXA+ZPCS |

PR5-120A-012

—18.00

——14.00—

2104

8  EE(Center Space)
gz ift( Rated Current)
E£I8£T(Screw)
124£HF (Terminal Body)
#E4TH4E(Screw Torque)

8.5x12.5mm
100A

M5
Brass, Tin Plated

24 |bf + in

PR5-100A-048

e

B  B8(Center Space) 10.0*16.50mm
i (Rated Current) 100A

JELARET (Screw) M5

Y2 T (Terminal Body) Brass, Tin Plated
SREHAKE(Screw Torque) 24 1df - in

PR5-100A-049

i8] #5(Center Space) 5.0x10.5mm
R MR (Rated Current) 100A
TEL£4RET(Screw) M5
124E4%F(Terminal Body) Brass, Tin Plated
#B4THA4E(Screw Torque) 24 Ibf - in

PR5-100A-050

e

Lg75d
End7,52m 10.00
| = i ma-m —14.00—
n —+— 4
g g r — [ mE |
bl 5 [ | 3
8-H-1.50 5 s & v - i Y
8 < S % S S in =)
9 & F R 41150 M §
l__ :[ “E—H.so by
Iizs0—l|  4-8.752010 ] U % ] L_ -
~15.00£0.10- L—16,50—| 4-4.00< 10.00—‘l L—IS.SO—-I 4-4.0 10{00-—]
BAES# (Technical Data) HARSH(Technical Data) H RS #(Technical Data)
/@  EB(Center Space) 8.75*13.5mm i8] E&(Center Space) 10.0x16.5mm i8]  8(Center Space) 10.0x16.5mm
e (Rated Current) 100A #h2 iR (Rated Current) 120A 2 ik (Rated Current) 120A
[ELAZET(Screw) M8 [E£384T(Screw) M4 FE£:384T(Screw) M5
Y2HEMF(Terminal Body) Brass, Tin Plated 1242imT(Terminal Body) Brass, Tin Plated 124£EHF (Terminal Body) Brass, Tin Plated
SRFHAE(Screw Torque) 661df - in 4B4THA4E(Screw Torque) 14 Ibf + in AR4TH4E(Screw Torque) 24 1bf fin

PR5-120A-039

r— 1

rl_’8’°°—\ I 4,50J_L%
S 3 PCB LAYOUT
S D i
l 3 3
—10.00—
- MS-6H F—14,00—

18.00
2.50

1.50

FARSH(Technical Data)

Hpmns
g0 #4004,

PR5-120A-014

l[OOG

I—lﬂ.Sﬂ—-I

O
00—

mS-cm 17,7

—17.70

l
+

g
=150 L] _j
L—NLSD—J et g&ﬂﬂ—]

HARSH(Technical Data)

13.85——

—

PR5-120A-015

—13.50—

1 O O

PCB LAYOUT

‘I——ze 00 ——l

——14.00——

2.60 r
e fuiiin
3

6.00
mS-6m l'—l 4.00—
r 4
[ 3
5 8
T_ >-1.50 N

| joo0—d 672004l

4.00

B RS ¥(Technical Data)

—14.50—
—14.50— ——14.50—— = BB
e oo O O o PN &
I B M & I r B (@ * EoB LavouT
¥ ' =
3 U 8 PeB LaYouT & § o vt N\ [] E'SO-EF
S ¢ : 3| o | Y
| ] 2,60 - L 260 Least S
| Ll L] Do 0L 1 1 Ol D-:t 26.50 w
Jeasl ke.25- =) g  [1450—
WY
#5.50
M5-6H [ 1430~ 5-6H ——14,50—— ‘ T s =
) 84150 o
Ig imm i 8 | = 8
o S b 3 d
T_ N —:I L—kq.sa & L_ | :1
nig L o] 6-2.0
T199 001 6-2.00 Jeosl o] 6200 ] u L 130 6.2 8
HARSH (Technical Data) FARSH(Technical Data) HARS#(Technical Data)
B  BB(CenterSpace) 6.25*13.0mm 8  BB(CenterSpace) 6.25*13.0mm B B5(CenterSpace) 6.25*13.0mm
#EFi(Rated Current) 100A FEFA(Rated Current) 100A e (Rated Current) 100A
FE£48%](Screw) M5 ELA85T(Screw) M5 [EL485T(Screw) M6
SRR TF(Terminal Body) Brass, Tin Plated 81247 Terminal Body) Brass, Tin Plated R1Z4F(Terminal Body) Brass, Tin Plated
$REHA%E(Screw Torque) 241df- in SREHAXE(Screw Torque) 24 1df- in SREHAE(Screw Torque) 30 Idf - in

8 BE(Center Space)
#EEifi(Rated Current)
JEZ9RET(Screw)
124845 ( Terminal Body)
#24TH14E(Screw Torque)

10.0x16.5mm
120A

M5
Brass,Tin Plated

241bf + in

i8] BB(Center Space) 8.0x10.5mm
&2 ik ( Rated Current) 120A
[E£484T(Screw) M5

{24 F(Terminal Body) Brass, Tin Plated
#R4THI%6(Screw Torque) 24 Ibf + in

18  E&(Center Space) 6.0x12.0mm
e fLifE (Rated Current) 120A
TEE£4R4T(Screw) M5

124288 F(Terminal Body) Brass;Tin Flated
#B4THI4E(Screw Torque) 24 1bf +fin

067/

/068

VO0E~VOSEHMIFHES 1 D

Nid LHOIVYLS 13XSVYO d313AIY LD



